Exponential/Logarithmic Graphing Name Kff‘l
Pre-Calculus Notes 4 Period

When graphing transformations of exponential functions, use the key features (x- and/or y-intercepts and
asymptotes) to help you.
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Example 1. Describe how to transform f(x) = e* into the graphs of the given functions, then graph:
a. g(x) =3e* (2ed)
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a. g(x) = —log(x —3) (wd)

Example 2: Describe how to transform f(x) = logx into the graphs of the given functions:
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Example 3: Given the graph of the original function, f(x), graph the transformed function and
analyze it for asymptotes, intercepts and end behavior.
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Sketch the graph of g(x) onto the coordinate grid (which shows the graph of f{x) already) using specific points.
Also, analyze the graph for asymptotes, intercepts and end behavior.
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3.f(x) = 3% glx)= —-33*+3
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